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QUESTION 1

Which transport protocol and port number is used by BGP to establish and maintain a peering session with other BGP
speakers? 

A. TCP port 179. 

B. UDP port 179. 

C. TCP port 22. 

D. UDP port 22. 

Correct Answer: A 

 

QUESTION 2

Which of the following Nokia 7750 SR components is NOT part of the data plane? 

A. The Media Dependent Adapter (MDA) 

B. The Input/ Output Module (IOM) 

C. The eXpandable Media Adapter (XMA) 

D. The Control Processor Module (CPM) 

Correct Answer: D 

 

QUESTION 3

Address summarization reduces the routing table size by: 

A. Allowing a contiguous block of network addresses to be represented by one network prefix. 

B. Increasing the number of addresses in the routing table. 

C. Summarizing addresses in the network into smaller routing tables. 

D. Not advertising directly connected routes. 

Correct Answer: A 

 

QUESTION 4

Which of the following statements about OSPF routing protocol is FALSE? 

A. It is a link state protocol. 
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B. It supports hierarchy using multiple areas. 

C. It supports VLSM and address aggregation. 

D. It uses hop-count for route selection. 

Correct Answer: D 

 

QUESTION 5

In the diagram, R3 receives an LSA with the sequence number 111 from R7 and then receives another copy of the LSA
with a sequence number 112 from R1. What does R3 do with the LSA from R1? 

A. R3 discards the LSA received from R1 and sends a copy of the LSA from its link state base to R1. 

B. R3 installs the LSA received from R1 in its link state database and floods a copy to its neighbors. 

C. R3 discards the LSA received from R1 and sends an ACK to R1. 

D. R3 installs the LSA received from R1 in its link state database, sends an ACK to R1 and floods a copy to its
neighbors. 

Correct Answer: D 
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